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=HH8�+LVWRU\&OHDQHU 

-HHYHV�RIIHUV�H[FHOOHQW�VHDUFK�IXQFWLRQDOLW\��EXW�PDQ\�XVHUV�H[SHULHQFH�
WKDW�RYHU�WKH�\HDUV�WKHLU�OLVWV�DQG�UHFRUGV�EHFRPH�OHVV�PDQDJHDEOH�EH�
FDXVH�RI�WKH�KLJK�YROXPHV�RI�REVROHWH�GDWD�SLOLQJ�XS� 

7KH�TXHU\�SHUIRUPDQFH�DQG�UHVSRQVH�WLPHV�LQ�\RXU�GDWDEDVH�WUDQVDFWLRQ�
WDEOHV�ZLOO�DOVR�VXIIHU�IURP�WKLV�DQG�WKHUH�PLJKW�EH�OHJDO�UHTXLUHPHQWV�WKDW�
GHPDQGV�GHOHWLRQ�RI�VHQVLWLYH�GDWD� 

:KDW�LI�\RX�IURP�WLPH�WR�WLPH�FRXOG�FOHDQ�\RXU�OLVWV�DQG�UHFRUGV�IURP�VXFK�
GDWD" 

=HH8�KDYH�GHYHORSHG�D�SURJUDP�DQG�D�VHW�RI�SURFHGXUHV�WKDW�XWLOL]HV�WKH�
VWDQGDUG�IXQFWLRQV�IRU�FOHDQLQJ�WDEOHV�LQ�DQ�HDV\�DQG�PDQDJHDEOH�LQWHU�
IDFH��<RX�ZLOO�EH�DEOH�WR�FOHDQ�RXW�HYHU\WKLQJ�UHODWHG�WR�D�FHUWDLQ�LWHP�
QXPEHU�RU�D�FHUWDLQ�FRPSDQ\� 

)XQFWLRQDOLW\�LQFOXGHG� 

· $�SURJUDP�ZLWK�HQWU\�DQG�EXWWRQ�WR�LQLWLDWH�FOHDQLQJ 

· 5HPRYDO�RI�RXWGDWHG�GDWD�UHODWHG�WR�D�FRPSDQ\�RU�DQ�LWHP 

· %DFNXS�RI�UHPRYHG�GDWD�LQWR�VWDWLF�KLVWRU\�WDEOHV 

 

<RX�ZLOO�RQO\�QHHG�RQH�SURJUDP�WR�KDQGOH�DOO�\RXU�GDWD�FOHDQLQJ 
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